ojr

7| Ar2| S Al a

(=1,
ol

ME7

00 77tX|

20 (&), 17

|

x| &

SAIZE2 ZI2H(EPM) S| Of 0] et 'VMS, 1365 52| i

I

[=)
=1

00 FE{ ~ 08

I'|g7tsotH, etr|zt & 2 4

—

b

A
.
S
i

(=}

ZSPIVN|
2018 08¥ 14 (Eh, 10

=1

s

oA, 2018SHA L 2

AtZ| 8 At (GEN4079)
12H (Pass EE= Fail)
stz of Z|CH 1

SHA| 7| HHEFLIEL

gl HOIX' 23

o
P}

K

SOl MHESE, HY-inZE Qe A -0|H Y XMz} =

ql
Al

—
=
=

LiZF SMS

HSX| =S Z2A|7| HHELIE,

:oll et AR| S At S =S EA;

TESE

g
"
70

ME

FE2HE “Fail”

: 2018'4 08E 292 (), 14:00~16:00

IAI

o
=

2us

« 1%} 7|

O|Hp gLt
FAIZ| HFEFL|CE

=
[

|
o

[

(=
HEPA) B S RO A

prul
il

L|C}.

F

=

ZHEH) BEXROA & =0

tof EEEA| 30A|7t O] &S SHO{OF &

ZIHES 7

2018'd 09 04 (3h ~ 20184 118 26%L(T)

4

=~

O HA|E Lt
RiH| 22| AEof

A

b

x
[
|SAIEIM HE 28 = A7)

2/ 22 2 3,000byte O

=7t A ojEMAE
2

o
=
—

gofl et

b

=

Q
=
|
o

i

(i)

b

T = A

=l

3

=
=

ol
=

£

1 13 (@, 10:00 £E{ ~ 20189 118 262 (&), 17:00 7I%|

t
E
glo|

: 20189 09F 032U (¥), 18:00~20:00
=

S 7| ZHEH) O A R AT

A
=

2 7N | BEH)OA At
ER

s
AA
o
=
2018 11

2
H A
| R
: H 9

=l

a
o 7|2

=2

o 7| BHEFA)OI M EA|

- MEX

« 3%t 7|

ol
N =

A
T

=
=

t

o

P

| SO 2 Fail

20189 12€ 03 (Y) ~ 2018d 128 07 ()

)

[

=

(MHE7}

jol

i
4
¥F
RO

)
<l 31
NO 10

<+

foju o
w| w|
X 3
blg
e
o S &
o_nnwo_n
..._.___A.U...._.___
o F
<=«
o LN
=0 | =—m =
|2 on
0

(42]
.klou.va.kl
Mg H
jor jor
= |T] =
2l &
00| = 00
o[ Wl
dix 4
KO [l KO
olr (ofr ofr
ENIENE]
ey
N|IN N
K

(oY}
ofr
RO
H! on
~

7| ()
22| g ol
HIM HE

b

=

FOFOF

=

b

71ZF Wol

b

47}
FS(

o
| 1%]/2H O]

b

IE{ O|==7l, 02-2220-0537, soojine@hanyang.ac.kr

—

AL

A

EDS
i)

mi

(121/2H)
A S (Z&712t U 30412 25)

5
=

A

b

=
=

£.04, P(Pass) / F(Fail)

HIt7|2t
S ETN F|

o
CtZ2| 7| =0 2}t Pass/Fail 2

1. Mg SAt RIS 7|

4,






